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1. 713 A A 4 91 71 1] 420 0 4201 (A BA_23) 753 ¢ 60,0009x771€Y = 420,000
4.71€} A A wsgE 11,500 8,700 2,800
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AnA 2021 08¢ 31 164] 31% 34% 16 A7NEnSH THAE2T




o Ak

w'
o
A\
jo_‘{n

20218}

L

[0

%= A

e

of 28 Al A

avy
do

o
rﬁ

3. S| 4,400 4,400 0
4. A9 - 5711] 120 120 0
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A =R e 2,800 0 2,800
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1 [=]u53Ahe- 3,340 4,010 -670
1. guk4n) 1,740 2,410 -670 44 @ Alo]2 9] 1 -400,000 = =400, 000
A AZ 0 -70,000 = -70,000
AEPFESH TY : -200,000 = -200,000
2. 4Nl 5] 1,600 1,600 0
2. [z =44 At 2,200 2,200 0
1. dnkpgn) 2,200 2,200 0
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1. Y9Hk=4n) 3,600 3,600 0
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2.8 5@ 521 700 700 0
RIS DR LR A 1,300 1,300 0
7. [Z]15FFAT(ANAEFTAD)R18B,920) 23,920 0
1. 771 A1 k4 Q171 1] 22,260 22,260 0
2. 9 E Y H A 700 700 0
RIS DELEE A 960 960 0
8. [N H &Y 7,194 7,194 0
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2.3 gy 1,940 400 1,540
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